
07 Şubat 2011 Pazartesi Yarış Sonuçları Şanlıurfa Hipdromu (6. Yarış Günü)

7. Koşu  Saat:15:45 ŞARTLI 2/Y3 59 kg, 2000 Kum

İkramiye 1.) 10.500 t 2.) 4.200 t 3.) 2.100 t 4.) 1.050 t

Forma S At İsmi Yaş Orijin(Baba - Anne) Sıklet Jokey Sahip Antrenörü Derece Gny AGF St Fark G. Çık. HP

1 YAVUZPAŞA(13) 5y a a YAVUZCA - SEYYARE.57 56 H.ALTIN YAK. ÇELİK A.E.KARAKURT 2.24.27 12,55 14 1,5 Boy 46

2 YILMAZER(3) 9y a a FOÇALI - SAPHA.29 59 İ.KATI MİT. KATI S.AKCI 2.24.53 1,50 10 1,5 Boy 92

3 İLBEYİ(1) 11y k a DEMİRKIR - MENCULE.47 59 MEH.DOĞAN ÖZK. ÇEBİ A.R.ÖZSÖYLER 2.24.81 9,40 4 Yarım Boy 86

4 KARADUMAN(10) 5y d a MUZAFFER ÇAVUŞ - AYAN 56 MEH.ÇELİK İBR. ÇELİK E.BALPINAR 2.24.95 18,25 15 43

5 SERVETKAYA(11) 6y k a ŞINKART - ELMASKIZ 56 ERCAN ALTIN SAH. KAYA N.ASLANSOY 2.25.04 18,35 7 48

6 BARSBAY(6) 8y k a SERGEN - BEHRE.8 56 MÜS.ÇELİK HAÇ. NOYAN A.E.KARAKURT 2.25.31 2,95 8 62

7 ÖMERCİK(2) 6y k a YILDIZAĞA - ROZA.1 59 M.A.AKTÜRK DAV. KAYA A.KAYA 2.25.45 6,40 6 68

8 ZENGİBAR(14) 8y k a VOLGA.2 - SABIKAY 56 M.SUNAY AYS. BAYDAN HAL.ŞİMŞEK 2.26.33 6,85 11 46

9 KAFADENGİ*(8) 5y a a ODİNHAN - MAHİYE 56 R.POLAT REM. KAYA N.ASLANSOY 2.26.51 6,65 3 62

10 AYVERDİ(5) 10y a a ALBATUR - KEMİYETÜLIRAK.58 56 R.DOĞAN ABD. TOPRAK H.BAŞAK 2.27.16 10,10 13 69

11 ALİMBALIM(4) 6y k a DEMİRKIR - MENCULE.47 57 M.AVŞAR REM. KAYA N.ASLANSOY 2.32.74 6,65 5 43

12 UMURUM(12) 5y a a ÖZGÜN - ALMİMRUHİYE.26 56 MEH.ARSLAN F. NİS. AKIL A.E.KARAKURT 2.34.00 17,85 2 60

13 DUHAN(7) 7y a a ANAVARZA - SEYYARE.61 56 SELİM KURT MEH. UÇAR HAL.ŞİMŞEK 2.34.02 16,85 9 65

14 KEBERLİKAYA(15) 10y a k SERBEY.1 - MELİS 54,5 A.YÜKSEL KAYA KAYA N.ASLANSOY 2.34.08 24,10 12 67

15 KANGALLI(9) 10y a a AŞKAR.1 - MEBRUKE 56/91 56 E.KILIK HAÇ. NOYAN S.AKCI 2.42.71 2,95 1 81

GANYAN(13) :12,55 t, İKİLİ(3/13) :34,00 t, SIRALI İKİLİ(13/3) :151,30 t, PLASE(13) :1,05 t, PLASE(3) :1,05 t, PLASE İKİLİ(1/13) :77,60 t, PLASE İKİLİ(1/3) :4,40 t, PLASE İKİLİ(3/13) :9,00 t,
TABELA BAHİS(13/3/1/10) :2.420,29 t, TABELA BAHİS SIRASIZ(13/3/1/10) :33,77 t, 5. ÇİFTE(6/13) :124,80 t


